CHAVARA CHARITABLE SOCIETY, DHULE
Chavara Talent Search (CTS) - 2015-16
Question Paper (Second level)

Marks : 200 Std: IV Time: 2 Y2H

1) She sang a beautiful song.(Identify the type of underlined verb)
1) Transitive 2) Intransitive 3) Auxiliary 4) Principal
2) Please switch on the fan.(Identify the type of given sentence)
1) hortative 2) imperative 3) Assertive 4) Exclamatory
3) May God Help you! (Identify the type of given sentence)
1) optative 2) Imperative 3) Assertive 4) Exclamatory
4) Identify the possessive Adjective
That is your book not mine
1) That 2) your 3) book 4) mine
5) Identify the Interrogative Adjective
What paper does your father read?
1) your 2) paper 3) what 4) father
6) Identify the kind of underlined noun.
Honesty is the best policy
1) Abstract 2) common 3) collective 4) material
7) Identify the preposition
I will meet you at 5° clock
I 2) will 3) at 4) meet
8) Identify the type of pronoun of underlined words
I hurt myself

1) Demonstrative 2) Reflexive 3) Interrogative  4) Possessive
9) Shame on you for this act (Fill in the blank with suitable adjective)
1) Demonstrative 2) Reflexive 3) Interrogative 4) Possessive

10) (Identify_the plural form of noun)

1) word 2) farm 3) sheep 4) garden
11) The moon with special brightness.(Fill in the blank with correct

alternative.

1) Shine 2) Will Shines 3) Shines 4) Shining

12) Alas! I can pay you no tax.(Identify the mark of punctuation)

1) Exclamation mark 2) Question mark 3)Hyphen 4) Comma
13) Which sentence among the following is the future tense.

1) My sister 1s plucking flowers 2) I finished my studies

3) I was eating mango 4) We will go for a picnic




14) The box was kept secretly.(Identify the gender of underlined word)
1) masculine 2) feminine 3) neuter 4) common
15) Identify the definite Article.
The Titanic was thought to be unsinkable .
1) titanic 2) thought 3) the 4) was
16) Identify the conjunction from the given sentences
Everybody knows that he is an honest man.
1)knows 2) he 3) an 4) that
17) The teacher loves their students.(Identify the gender of underlined word)

I)masculine 2) feminine 3) neuter 4) common
18) It was raining last evening. (Identify the tense)

1) present continuous 2) past continuous

3) future continuous 4) future perfect

19) He 1s unhappy . He is rich (Select proper conjunction)

1) although 2) but 3) and 4) because
20 Fill in the blank with appropriate preposition
The book is lying the table
1) upon 2) on 3) by 4) beside

21) Identify the kind of Adverb of underlined words

He was almost killed in an accident

1) Number 2) degree 3) manner 4) place
22) My heart was beating fast. (Identify the subject)
1) beating 2) fast 3) my heart 4) was
23) _Find the wrongly spelt word.
1) praise 2) preys 3) prays 4) parice
24) Identify the correct meaning of the given idiom : at the eleventh hour.
) to be very frank  2) to avoid 3) at last moment 4) very rarely

25) Find out the Adjective from given sentence

John is a tall boy.
1) john 2)1s 3) tall 4) boy
26)9569 | | 14809
) = 2) > 3) < 4) <
27)1If 67 x 3 = 201, then 670 x 30
1)21000 2)20001 3)12000 4)20100

28) Twenty thousand four is written in numerals as

1)20,04 2)20,004 3)20,040 4)20,400




29)There are 87 flowers how many garlands of a flowers each can be made and
how many flowers will be left over?
1) 9garlands, 4flower left 2) 9garlands, 6flower left
3) 9garlands, 3flower left  4) 6garlands, 9 flower left

30) One box of sweets weighs 750 grams how many kg 8 such boxes will weigh?
1)75 2) 7500 3)6 4) 6000

31) How many 5 rupee coins will make Rs 45

DI 2)21 3) 45 4)5
32)100 minutes = hour minute
1) 40,40 2)40,1 3)60,40 4)1,40
33) 2405%0 =
1) 2405 2)0 31 4)5042

34) 5x9=45 here 5 is the multiplicand while 9 is a

1) divisor 2)multiplier 3)product 4)remainder

35) 60 can be written as

1)50+10 2)10x6 3)12x5 4) a, b, c all are correct
36) 2.5 kn = m
1)2050 2)1000 3)100 4)2500

37) 500x2= 4365 -

Which number can make the above statement true.
1)2000 2)3365 3)4365 4)1000

38) 5402, 9805, 8253, 4257 if these numbers are arranged in ascending order the
sum of 2™ and 4™ number will be

1)18058 2)15207 3)12510 4)17058
39)Which number will be in the box 5,10,17, | ]

1)18 2)19 3)28 4)26
40) 4U+2TH+3H+OT =
1)4203 2)2340 3)234 4)2304

41) Find the area of the rectangle if L= 17.5cm ,B=12.5cm
1) 33.75 cm 2)22.775 cm 3)45.75 cm 4) 218.75
42) Convert 150 days into weeks.

1)12 weeks 2) 14 weeks 3) 15 weeks 4) 11 weeks




43) 5 Liter =

1)5ml 2)5000ml 3)500ml 4)50ml

44) If 69 out of 100 students in a school are boys, write the decimal expression for
the number of girls in the school?

1) 0.31girls 2) 0.42 girls 3) 0.51 girls 4) 0.69 girls

45) Substract the following:

COl\]
ul |l w

12 11
D 2)— S D
46) Expand the following Numbers 1,20,985

1)100000 + 20000 + 0000 + 900 + 80 + 5

2)100000 + 20000 + 0000 +90 + 80 + 5
3)100000 + 20000 + 0000 +9 + 80 +5

4) 100000 + 20,000 + 9000 + 80+ 5

47) Radhika purchased fruits worth Rs. 140.67. She paid the Cashier Rs.200 .
How much amount should be returned to her by the cashier?

1) 60.33 2) 50.30 3) 40.33 4) 59.33
48) Convert 6 [ 75 ml into milliliter

1) 600 ml + 75 ml = 675 2)6ml+75ml =675

3) 600 ml + 75 ml =675 4) 6000 ml + 75 ml = 6075
49) ____ i1s the formula of perimeter of square.

1) 3 x side 2) 2 x side 3)4 x side 4) side x side
50) formula is used to find the perimeter of rectangle.

DP=L+2)x2 2) P=(Lx2)x2 3)P=L+B x 3
4)P=(L+B) x2
51) A patient clothes should be

1) ironed 2) mended 3) disinfected 4) None of these
52) 1s soluble in water.
1) stone 2) salt 3) sand 4) None of these

53) We use these teeth to tear pieces of food

1) incisors 2) canines 3) molars 4) None of these
54) Air enters a plants through the stomata on its

1) leaves 2) flowers 3) stem 4) None of these
55) One must not wear these clothes in the kitchen

1) cotton 2) synthetic 3) woolen 4) None of these




56) A cactus plant saves water by
1) Not having leaves 2) not having a stem  3) not having roots
4) None of these

57) To keep insects away, these are kept between the folds of woolen clothes

1) mothballs 2) perfume 3) toffees 4) None of these
58) The toothed tigers lived on this earth many years ago.
1) Sabre 2) White 3) Black 4) Yellow

59) It is a term used when an animal sleeps for several months to protect itself
from cold.
1) hibernation 2) respiration 3) extinction  4)None of these

60) In electronic motors electrical energy is changed into this energy
1) mechanical 2) solar 3) atomic 4) None of these

61) This planet has rings which are made up of ice, rock, and dust

1) Saturn 2) Venus 3) Mars 4) Jupiter
62) This can be active, dormant or extinct

1) Tsunami 2) Sun 3) Volcano 4) None of these
63) The 1s just 3 to 10 cm long but can kill a shark.

1) Octopus 2) Sea urchin 3) Dolphin 4) Whale
64) Shedding of old skin by animals is called ____ .

1) Molting 2) Changing 3) Reproduction 4) None of these
65) The young one of a frog is called

1) Tadpole 2) larva 3) maggot 4) None of these
66) They have a fixed shapes and a fixed volume .

1) solid 2) liquids 3) gases 4) None of these
67) The Planet whose color is blue

1) Saturn 2) Sun 3) Neptune 4) Venus

68) The natural home of an animals is called its

1) house 2) nest 3) habitat 4) None of these
69) Satellites are small heavenly bodies that revolve around the

1) planets 2) stars 3) sun 4) None of these

70) Harmful microorganisms of polluted water can cause diseases like

1) typhoid 2) headache 3) flu 4) None of these
71) National Park is a major tourist attraction in Madhya Pradesh
1) Gir 2) Kanha 3) Bandipur 4) Simlipal

72) Many Indian freedom fighters were jailed in the
1) Pratapgarh Fort 2) Meerut Jail 3) Red Fort 4) Cellular Jail




73) We celebrate World’s Environmental Day on

1) 10 July 2) 9 August 3) 5 June 4) None of these
74) This is a state of matter
1) Salt 2) solid 3) sugar 4) None of these
75)The hot and dry winds that blow through North India in summer are called ___
1) storms 2) loo 3) bora 4) cyclones
76) There are states in india.
1)29 2)12 3)20 4)27
77) Swaraj means government.
1) Shivaji 2) self 3) every ones 4)people
78)We receives love, affection and intimacy in our
1)shop 2)school 3)family 4) garden
79) 1s the main reason to celebrate festivals?
1) eating sweets 2) buying new clothes
3) showing your property 4) to strengthen bonds amongst us
80)The eastern and western ghats meet each other at the --------- hills
1)dart moor 2) satmala 3)rajmahal 4)nilgiri

81) Shivaji’s education was started at the age of -----------

1o 2)3 3) 10 4) 7
82) built lal mahal
1)Shivaji 2)Jijabai 3)Shahajiraje 4)Dadaji konddev
83) Sahyadri mountain have an average attitude of
1)900 2)1000 3)1200 4)750
84) Shivaji’s Samadhi is at
I)Pratapgad 2)Torana 3)Sinhagad 4) Raigad
85) _____ should we done before start using electrical appliances.

I)do not worry about it
2)must read full instructions about the implements before start using them
3)we can use as we like
4)tell your younger brother to use first.
86) Maharashtra day is celebrated on
1)1* may1962 2)1* may1960 3)1*" may1961
4)1* jan1962
87) The ever green forest are also known as
1)tidal forest 2)mountain forest

3)tropical rainforest 4)babool forest




88)Shivaji coronation took place in

1)1666 2)1674 3)1675 4)1680

89)Electricity generated from water is called

I)thermal power  2) hydal power 3)solar power  4)nuclear power

90) This indoor game originated in India

1) Chess 2) Cricket 3) Tennis 4) Hockey
91) World Literacy Day is observed on :

1) 5™ June 2) 24™ October  3) 8" September  4) 10™ December
92) 1s used to measure the rainfall.

1) Telescope 2) Rain Gouge 3) Lactometer 4) Radar

93) First man to land on the moon.

I) Neil Armstrong 2) Dennis Tito

3) Yuri Gagarin 4) Rakesh Sharma
94) largest country in the world.

1) Sahara 2) Arabia 3) Russia 4) India
95) A disease caused by dog bite.

1) Rabies 2) Malaria 3) Myopla 4) Polio
96) was a great Mughal emperor who built the Taj Mahal.

1) Bahadur Shah Zafar 2) Tipu Sultan

3) Shah Jahan 4) Akbar
97) Nuns live in a

1) Convent 2) Hostel 3) Monastery 4) Palace
98) is the first person who skis down the Mt. Everest.

1)Yuichiro miura 2)Neil Armstrong 3)Reinhold messne

4)Dennis tito

99) ______the first space tourist in the world.
1)Dennis tito 2)Alexei leonov 3) Yuri Gagarin
4)Dr. christian Barnard

100) 1s the chief minister of Maharashtra.
1) Mr prithiviraj chavan 2) Mr Ashok chavan
3) Mr Devendra phadanvis 4) Mr Yogendra Phadanvis







